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Period: Trigonometry: Chapter 2 Review

1. Evaluate each of the following trig expressions. Round all expressions to four decimal places

a. tan87°20=71. 47104 b. sin88'10= 7195 c.oscl730'= 3. 5055 (s 1157 Sians
d.cosl22° =-.5799 e.secl12” = - bl f.cot310°30'= . %54 |
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2. Refer to right triangle ABC, where C =90°. Find all missing pieces. Round all angles and lengths to the
nearest tenth.

a c=30ft b=24ft b. a=232m b=153m c.
A o=I¥ #r
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e. B=62"53 ¢=7437yd f. B=5540" a=1.6in
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3. Solve for 8. Round all angles to the nearest minute.

a. sind=0.3907 b. cos#=0.9136 c. tand=3.0237
g = 73° 6=)3%" 6=11"42
77.99¢ 73.992° 1.7°

4. Solve for 8. Round all angles to the nearest tenth of a degree.
a. secd =5.9963 b. cscf=3. 9175 c. cotd=1.5211
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5. Use the Cofuncuon Theorem to fill in the blanks. o
a sind3.9 = (04017 boescd2ia= oc i ecot2226 = tun bl /4
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6. Fill in the table of exact values:

6 0° 30° 45° 60° - 90°

i

sin 6 O /2
cos 6 } Yi”;’, Jf/a} f'//f;
tan 6 @ e /2& 5 (}:%

7. Use the table of values to simplify each expression.
a.sin’30"  b.cos45"—sin60"  c.tan’45" +sec30”  d.cot’ 60° ~sin30°
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8. A person stands five metefs from a building. The angle of elevation from whefe the person stands to the
top of the building is 75° . Find the height of the building. Round to the nearest meter.
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9. The angle of deptession from the top of a cliff 800 meters high to the base of a log cabin is 37°20'. How

far is the cabin from the foot of the cliff? X
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10. A person standing 100 inches from a mirror notices that the angle of depression from her eyes to the
bottom of the mirror is 20°, while the angle of elevation to the top of the mirror is 29°. Find the vertical
dimensions of the mirror.
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Y= 30.4 in V=5 5.4
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11. A boat travels on a course for 301 miles north and 234 miles east. What is the bearing that boat has
traveled?
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